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Q1) Attempt any two : [2 × 5 = 10]

a) Draw and explain the V-I characteristic of a TRIAC.

b) Explain Thyristor in brief.

c) Explain SCR.

Q2) Attempt any two : [2 × 5 = 10]

a) Write the application of general purpose diode.

b) Explain Schottky diode.

c) Explain UJT (Uni Junction Transistor).

Q3) Write short note on any two : [2 × 5 = 10]

a) Single phase half wave controlled rectifier.

b) Single phase fully controlled full wave rectifier.

c) Three phase full wave half controlled bridge rectifier.

Q4) Attempt any two : [2 × 5 = 10]

a) Describe the principle of operation of a step-up chopper.

b) Write a short note on AC drives.

c) Explain parallel inverter with circuit diagram.

Q5) Write short note on any two : [2 × 5 = 10]

a) Online UPS

b) Storage devices (batteries)

c) SMPS

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{OE&

à.à.à.à.à.1) H$moB© Xmo àíZ hb H$a|& [2 × 5 = 10]

A) TRIAC H$s V-I A{^bjUm| (characteristic) H$m AmaoI ~ZmE Am¡a dU©Z H$a|&

~) Thyristor H$s g§{já ‘| ì¶m»¶m H$a|&

g) SCR H$m dU©Z H$a|&

à.à.à.à.à.2) H$moB© Xmo àíZ hb H$a|& [2 × 5 = 10]

A) OZab nanµO S>m¶moS> H$s {deofVmE§ {b{IE&

~) Schottky diode H$s ì¶m»¶m H$a|&

g) UJT (¶y{Z µO§³eZ Q´>m§{µOñQ>a) H$s ì¶m»¶m H$a|&

à.à.à.à.à.3) {H$gr Xmo na bKw boI {bI|& [2 × 5 = 10]

A) qgJb ’o$µO hm’$ dod H§$Q´>moëS> a¡³Q>r’$m¶a&

~) qgJb ’o$µO ’w$br H§$Q´>moëS> ’w$b dod a¡³Q>r’$m¶a&

g) W«r ’o$µO ’w$b dod hm’$ H§$Q´>moëS> ~[aµO a¡³Q>r’$m¶a&

à.à.à.à.à.4) H$moB© Xmo àíZ hb H$a|& [2 × 5 = 10]

A) EH$ step-up chopper H$s H$m¶©{d{Y-{gÕm§V H$m dU©Z H$a|&

~) AC drive (S´>mBd) na EH$ bKw boI {b{IE&

g) Parallel BÝdQ>©a H$s g{H©$Q> AmaoI Ho$ gmW ì¶m»¶m H$a|&

à.à.à.à.à.5) {H$gr Xmo na bKw boI {bI|& [2 × 5 = 10]

A) Online UPS

~) Storage devices (batteries)

g) SMPS
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